
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

2, 105 × ________ = 21.05 5, 997 × ________ = 599.7

4, 527 × ________ = 452.7 6, 984 × ________ = 698.4

8, 264 × ________ = 8264 9, 585 × ________ = 958.5

8, 374 × ________ = 837.4 1, 521 × ________ = 1521

7, 797 × ________ = 779.7 8, 567 × ________ = 8567

9, 613 × ________ = 9613 8, 009 × ________ = 8009

3, 059 × ________ = 3059 4, 004 × ________ = 400.4

4, 455 × ________ = 445.5 5, 952 × ________ = 5952

3, 398 × ________ = 3398 10, 903 × ________ = 1090.3

3, 036 × ________ = 303.6 6, 374 × ________ = 6374
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser med potens på ti (manglende tall)

2, 105 × 10 = 21.05 5, 997 × 100 = 599.7

4, 527 × 100 = 452.7 6, 984 × 100 = 698.4

8, 264 × 1000 = 8264 9, 585 × 100 = 958.5

8, 374 × 100 = 837.4 1, 521 × 1000 = 1521

7, 797 × 100 = 779.7 8, 567 × 1000 = 8567

9, 613 × 1000 = 9613 8, 009 × 1000 = 8009

3, 059 × 1000 = 3059 4, 004 × 100 = 400.4

4, 455 × 100 = 445.5 5, 952 × 1000 = 5952

3, 398 × 1000 = 3398 10, 903 × 100 = 1090.3

3, 036 × 100 = 303.6 6, 374 × 1000 = 6374
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